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» W ) 3 5%
R DR e i o | e [ [ ] 2% | % [pmam]
EXE=RD 7 6 1 5 6 1 5 100.0% 5 0 5 0.9
RHIRD 7 9 3 6 8 3 5 88.9% 6 1 5 1.1
fRE2EM 10 17 0 17 15 0 15 88.2% 8 0 8 15
EEXELT 1 20 2 18 20 2 18 | 100.0% 2 0 2 20.0
REL 2 10 2 8 10 2 8 | 100.0% 2 1 1 5.0
wEt 1 =
fist 2 4 4 0 4 4 0 100.0% 2 2 0 20
FHIMBA (RBHESEL) 1 1 1 0 1 1 0 100.0% 1 1 0 1.0
wWREEL 2 5 0 5 5 0 5 100.0% 2 0 2 25
HEELWEHNESR) 2 6 1 5 4 1 3 66.7% 1 0 1 20
BEIFEEE (BBERRERD 1 3 3 0 3 3 0 100.0% 1 1 0 30
EHRABE (B 488 1 1 1 0 1 1 0 100.0% 1 1 0 1.0
#HEEt(REFIXIEEMEA) 2 2 2 0 2 2 0 100.0% 2 2 0 1.0
AHERD 1 5 0 5 5 0 5 100.0% 1 0 1 5.0
BEN (%) 3 | B EL .|
AT (BEE) | [ mEEmL |
HEL (BES) 1 1 1 0 1 1 0 100.0% 1 1 0 1.0
SEA A E) 2 2 0 2 2 0 2 | 100.0% 2 0 2 1.0
BEM(BREE) 3 | mEEuL |
EHXEF (BRER) 1 1 1 0 1 1 0 | 100.0% 0 0 0 1.0
HEEL(WEHESR) (BEE) 2 2 1 1 2 1 1 100.0% 2 1 1 1.0
EEATELE GhARIE) 1 1 0 1 1 0 1 100.0% 1 0 1 1.0
BEM(BFLAEE) 3 1 0 1 1 0 1 100.0% 1 0 1 0.3




